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(two-way ANOVA)




M=8.4| M=3 | M=2.8 M=4.7

M=5.6| M=3 | M=5.2 M=4.6

(interaction)

w

(main effect)

B (interaction)




two-way ANOVA

1 A

HO: ko™ = pyh = .. = g
H1: not HO

2 B

HO: p® =, = ... = @
H1: not HO

HO: A B
H1:

Nij,
N,
N; = NANS/N

NA




- Xiik (i) k
- Njj (1))
- N, NS AB) ()
-N Nij
- Tipp Mjj (1, )
-TA TP AB) 1()
- MA, MP AB) ()
“T,M
- KA, KB A (B)
A
.1
. A MSA

MSA = SSA/ (KA - 1)

MSW = SSW / (N - KAKE)

MSW

SSW = Zy (Xij - Mij )2 = Zye Xy 2 - Z (T 2/ Nyp)




MSA/MSW
(KA-1),(N-KAKB) F

- A B one-way ANOVA
two-way ANOVA
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MSB
MSB = SSB / (KB - 1)
SSB=3%NB(ME-M)2=5; (TB2/NB) -T2/N
MSB/MSW (KB - 1),
(N-KAKB) F
- MSW




A B
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. A B

MSAB

MSAB = SSAB / (KA - 1) (KB - 1)

(Mij - M)
(Mi* - M) + (MjB - M)

_ A B/Z
SSAB =3, Ny (M, - MA- MEF M)

. MSAB/MSW (KA-1)(KB-1)
(N-KAKB) F
-MSW
12
o2
Source SS df MS F p
( ) ( ) (
A SSA KA-1 MSA  MSA/MSW
B SSB KB-1 MSB MSB / MSW
Ax B SSAB (KA-1)(KB-1) MSAB MSAB/MSW
Within:  SSW N - KA KB MSW
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. 5%

10,9,8,7,7 5,4,3,2,1 4,3,3,2,2
6,6,6,5,5 4,4,3,2,2 6,6,55,4

A B
Nig =N = N3 =Ny =Ny =Ny =5
NA=NA =15, NB=NSB =NB=10 N=30
14
. ( )

] | T1=42, T,=15 T=14
i T1A= 71, T2A - 69, T1'3= 70, T,B =30, T,8=40

M, =84, M;,=3, M;=28,
My, =56, My, =3, My=5.2,
MA =47, M2A =46, MB=7, MpB =3 MgpB=4
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----------------------------------------------------------

= 712/ 15+ 692/ 15 - 1402/ 30 = 0.14
MSA = SSA / (KA-1) = 0.14/(2-1)=0.14

---------------------------------------------------------------------------------

= 702/ 10 + 302/ 10 + 402/ 10 - 1402/ 30 = 86.67
MSB = SSB / (KP- 1) = 86.67/(3-1) = 43.33

---------------------------------------------------------------------------

SSW :EZ Xijk2 [T122/ Nyy + Tip2/ Nyp + T332/ Ny
+ T212/ Nyy + T2/ Nyy + T2/ st]

...............................................................
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MSW = SSW / (N - KAKB) = 26/ (30 - 2*3) = 1.08

---------------------------------------------------------------

...............................................................

-----------------------------------

...................................

= 774 - 0.14 - 86.67 - 653.33
=33.86
MSAB = SSAB / (KA- 1) (KB- 1)
= 33.86/(2-1) (3-1)=16.93
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. 5% 1,24 F
,F>4.26

F=MSA/MSW =0.14/1.08 =0.13
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. 5% 2,24 F
F>3.40

F=MSB/MSW =43.34/1.08 = 40.13




5% 2,24 F
F>3.40

F=MSAB/MSW =16.93/1.08 = 15.68

Source SS df MS F p

A 0.14 1 0.14 0.13 >0.7

B 86.67 2 4333 40.13 < 0.001***
Ax B 33.86 2 16.93 15.68 <0.001***
Within: 26.00 24 1.08
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—— Male

8 -=- Female
@ 6
(@]
(&)
0w 4
2
o 1 1
T1 T2 T3
Treatment
22
10
—-—T1
8 T2
v 6 --T3
(@] _ —A
[8) -
n 4 T
g T .
2
O 1
Male Female
Sex

11
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10 10
—-—T1
8 \----TZ 8 e
o 6 ~-13) 6
o) *.\ e — e — -
O S~ e
n 4 LN 4 L
2 Tl 2
0 . 0 .
Male Female Male Female
Sex Sex
24
Within-Subject design
two-way ANOVA
1

12
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Xy ()
KA, KB A (B)
‘N KA x KB
T TP AB) ()
-MA, M® AB) ()
T, M
A MSA

MSA = SSA / (KA - 1)

------------------------------------------

B MSB
MSB = SSB / (KB- 1)

-------------------------------------------
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27

F=MSA /MSAB

-MSA
-MSAB
(KA-1) (KA-1)(KB-1)
28
Source SS df MS F

( ) ( ) ( )
A SSA KA-1 MSA MSA/MSAB

B SSB KB -1 MSB
Ax B SSAB (KA-1)(KB-1) MSAB

MSW

14



29

U
a; A (ai=H-H)
Ejj (& =Yi- 1)
- HO alla;=0
- H1 notallg;=0
1 30
*MSW MSB
SMSW (g )
-MSB  ( & Y+ ( ZN; a2/ (K-1))
. MSB MSW

- MSB 2 0




31

Yij = K +a + by + (ab);; + &

U
a; A (8 =Hi-H)
b; B (bj=1 -1
(ab); ((@b)y; = M- Hi- K+ 1)
Eijk
32
A
HO alla;=0
H1 notalla;=0
B

HO all bJ- =0
H1 not all bj =0

HO all (ab); =0
H1 notall (ab); =0

16



2

33

* MSW, MSA, MSB, MSAB

-MSW  ( Eilk )
-MSA  ( Eilk )+ ( ZNfa?/ (KA-1) )
MSB (g )+ ( ENEb2/(KB-1) )
CMSAB: (g )

+( ZNj(ab)?/ (KA-1) (KB-1))

Within-Subject design

34

Yij= W+ a; + b+ (ab); + g;

M
a; A
b; B
(ab);
&j
- HO alla;=0

- H1 notallg;=0
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35

* MSA, MSAB
‘MSA (g
+ (
+(
+(

) +

36

°2

- Within-Subject
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